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ANSWER THE FOLLOWING SEVENTY MULTIPLE CHOICE QUESTIONS ON THE MARK READING
SHEET. READ THE ATTACHED INSTRUCTIONS AND FOLLOW THEM CAREFULLY.

Question 1

Which of the following best descnbes “latent™?

1 observable

2 manifest

3 hidden

Question 2

An operational defintion definesa----- in terms of - - - - -

1 manifest vanable, observable behaviour

2 theoretical construct, observable consequences

3 observable construct, other constructs

Question 3

The building blocks of psychological theones are most accurately descrnbed as - - - - -
1 concepts

2 constructs

3 vanables

Use the following scenano to answer Questions 4 and 5

Ross’ explanation of size perception in the natural environment indicates how the estimated size of a distant
object 15 affected by s true size, distance from the observer, and transparency of the atmosphere He
decides to investigate whether estimated size increases with haziness

Question 4

“Estimated size increases with haziness” 15 - - - - -

1 an observed relation between two vanables

2 a research hypothesis
3 an operational defintion
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Question §

The independent vanable in Ross’ research IS - - - -
1 haziness

2 estimated size

3 size perception in the natural environment

Question 6

“A manic episode i1s a penod of at least a week dunng which a person experniences an abnormal and
persistent cheerful or imtated mood™ This statement - - - - -

1 1s a prediction based on a psychological theory of behaviour
2 descnbes the latent implications of a construct

3 is an operational defimtion of a construct

Question 7

A psychological theory 1s best defined as - - - - -

1 a set of observations

2 postulated relations between vanables

3 statistical predictions

Question 8

The (@) ----- vanable can be sad to “cause” the (b) - - - - - vanable
1 (a) dependent (b) independent

2 (a) operational (b) measured

3 (a) independent (b) dependent

Question 9

In a study, the relationship between anxiety (high and low) and test performance (measured in terms of pass
and farn) 1s considered A suitable hypothesis for the study can be viewed as g - - - - -

1 fule associating the values of ‘anxiety’ with the values of ‘test performance’

2 correlation between the constants ‘anxety’ and ‘test performance’
3 rule correlating the values of the vanable ‘test performance’
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Question 10

A psychologist 1s conducting a study about the self-concepts of university students  He makes the
assumption that students’ concepts of themselves can be used to predict their willingness to participate in

class discussions In order to be able to do a scientific study of this (@) - - - - - question, he would have to
provide a {an) (b) - - - - - definttion of the (¢) - - - - - called "self-concept”

1 (a) scientific (b) expenmental (¢) concept

2 (a) expenmental (b) research (c) operational concept

3 (a) research (b) operational (c) construct

Question 11

Select the most appropnate definition of a psychological theory
1 Psychological theones are sets of observations about human nature
Psychological theones are best defined as statements about the principles underlying human

behaviour, but these statements are not testable
3 Psychological theones make predictions about relations between vanables

Question 12

Operational definitions enable us to - - - - -

(a) make observations of constructs
(b) link constructs to observable phenomena

1 {a) but not (b)
2 {b) but not (a)
3 (a) and (b)

Question 13

If 5000 students wrote an exam, 3000 passed with 50% or more and 250 obtained exactly 50%, what i1s
the value of p(50%|pass) for randomly selected students?

1 0,025
2 112
3 1
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Question 14

The area under the standard normal curve equals - - - - -
1 its mean

2 its standard dewiation

3 one

Question 15

John received 45 marks for his psychology test The average mark for this test 1s 35, and the standard
deviation s 10 What 1s John's z-score?

1 1

2 0,34

3 0,16
Question 16

A probabiltty distnbution of the ages in months of South Afncan Grade 1 children indicates for each - - - -
what the corresponding - - - - - IS

1 child, age of that ctuid
2 age in months, number of children of that age
3 age in months, relative frequency at that age

Question 17

John scored 15 in English (class mean 12, standard dewation 3) and 18 in Geography (class mean 13,
standard deviation 5) Use z-scores to decide which statement s true Relative o the rest of his class
John does - - - - -

1 better in English than in Geography

2 equally well in English and Geography
3 better in Geography than in Engiish
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Question 18
Why is the central imit theorem of importance in inferential statistics?

1 Because it informs us how sampling error will Increase as the population increases
Because it tells us that sampling error will begin to approximate a normal distnbution as samples
grow larger

3 Because 1t shows that the sampling distnibutions of certain sampling statistics will approach a
normal distnbution as sample sizes increase

Question 19

If you select one marble randomly from a bag containing 18 red , 17 blue, and 12 green marbles, what 1s
the probabilty of the marble being green?

1 0,26
2 0,38
3 0,36
Question 20

Which statement best represents an application of the law of large numbers? If | flip a coin 1000 times 1t
will fall heads up - - - - - 500 times

1 approximately

2 exactly
3 at least
Question 21

Statistics that are used to convey information about a population are called
1 parameters

2 inferential statistics
3 samples
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Question 22

Study the following figure of the normal curve

What 1s the size of the area under the curve, to the nght side of the mean?

1 100%
2 0,50

3 5
Question 23

What 1s the probability of selecting a boy in a class with 63 giis and 5 boys

1 0, 07
2 0,08

3 0,01
Question 24

The expression “0,05 < p < 0,10" denotes a probabity value - - - - -
1 larger than 0,05 and smaller than 0,10

2 larger than or equal 1o 0,10, or smaller than or equal to 0,05
3 larger than or equal to 0,05 and smaller than or equal to 0,10
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Question 25

When applying a statistical test, the p-value represents the probability of obtaining the - - - - -
1 sample statistic under the alemative hypothesis

2 population parameter under the null hypothesis

3 sample statistic under the null hypothesis

Question 26

The hypothesis "Hy; p<30"1sa----- hypothesis and requires a - - - - - statistical test

1 non-directional, one-tailled

2 directional, two-tailed
3 directional, one-tailed

Question 27

When applying a statistical test a decision i1s reached by comparing the - - - - - tothe --- --
1 p-value, level of significance

2 test statistic, population parameter

3 test statistic, level of significance

Question 28

The lower we set the level of significance, the greater the probability of - - - - -

1 rejecting the nuil hypothesis

2 a type | error
3 a type |l error
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Base your answers to Questions 29 to 32 on the following scenario

A researcher hypothesizes that babies bom prematurely will be somewhat less intellgent as young adults than
their peers She uses the records of vanous matemrty hosprtals to ientify a random sample of 25 persons
who are now young adults, but who were born more than four weeks prematurely She measures the IQ of
each, using the SAWAIS (IQ scores on this test are distnbuted normally in the general population, with a
mean of 100 and a standard dewation of 15 ) Suppose she finds that the mean |1Q score of her sample 1s
87,9 and the standard dewiation of the scores 1s 17

Question 29

Which of the following best descnbes the theoretical hypothesis to be tested?

1 Low intelligence 1s caused by premature birth

2 Premature birth 1s associated with low inteligence

3 Premature birth s not associated with lower intethigence

Question 30

Which research design dd the researcher use?

1 Correlational design

2 Single-sampie groups design

3 Two-sampie groups design

Question 31

Which 1s the appropnate test statistic to calculate?

1 The t-statistic for the difference between the means of two independent groups

2 The t-statistic for the mean of a single group

3 The z-statistic for the mean of a single group

Question 32

What are the requirements with regard to the type of statistical test that may be required to interpret the
research results?

1 No statistical test 1s required

2 A one-talled statistical test should be performed
3 A two-talled statistical test should be performed
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Question 33

Suppose the level of significance Is set at 0,05, and the appropnate p-value is calculated as 0,04 What is the
probability that the researcher will be making a Type | efror should he decide to reject Hy ?

1 0,04
2 0,05
3 Normally not possible to estimate

Question 34

When a statistical test yiekds a small p-value, which of the following statements 1s most correct?

1 The altemative hypothesis Is probably false
2 The null hypothesis 1s probably true
3 The null hypothesis I1s probably false

Question 35

If we assume that the alternative hypothesis “The population mean 1s smalier than 50" Is true, which of the
following statements i1s true of the sampling distribution of the mean?

1 It 1s assumed to be the same as under the nuil hypothesis

2 It cannot be denved

3 It 15 assumed to correspond to the lower half of a normal distnbution
Question 36

A type li error occurs when - - - - -

1 the null hypothesis i1s wrongly rejected

2  the null hypothesis 1s wrongly not rejected

3 the alternative hypothesis 1s wrongly accepted

Question 37

If a research resuit looks psychologically important but is found to be not statistically significant, what
might the researcher consider doing when repeating the research?

1 Use a larger sample

2 Set a lower level of significance
3 Use a less powerful statistical test
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Questions 38 and 39 are based on the following case

Lisa 1s a human resource consultant and her boss asks her to test i the employees in ther company
(population A) have a more positive attitude towards work than the average worker in South Afnca (population
B) Lisa decides to use a standardized test which measures work attitude (a high score indicates a positive
attitude} with a mean score of 120 for the population (population B)

Question 38

Which of the following statements translates the research hypothesis into the correct statistical
hypotheses?

1 Ho p=120
Hy, p<120

2  Ho p=120
Hy p>120

3 Ho p=120
Hy, w=120
Question 39

Lisa finds that the employees in her company obtained a score of 130 Which of the following statements
1S true about the result?

The employees i Lisa’s company - - - - -

1 do not have a more positive atttude towards work and 1t 1s not needed to test this any further
obwviously have a more positive atttude towards work than employees of other companies and it is
not necessary to test this difference statistically

3 have a more postive atttude towards work than employees in other companies and she will have to
test this difference further for significance

Question 40

Suppose you find that the value of the z.-statistic calculated for your research results 1s zero Which
conclusion I1s appropnate?

1 The null hypothesis should be rejected

2 The null hypothesis is likely to be true
3 The altemnative hypothesis is likely to be true
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Questions 41 and 42 are based on the following case

Peter is a human resource consultant and his boss asks him to test the workers n their company
(representative of population A, say) and to determme if their atttudes towards workers with AIDS differ from
that of the general worker in South Afnica (population B) Suppose that on the basis of previous studies it 1s
accepted that the mean atttude score of the population of workers in South Afrca 1s 55 {the higher the score
the more positive) and that the standard deviation i1s 16

Question 41

Which of the following statements translates the research hypothesis into the comrect statistical
hypotheses?

1 Ho p=55
Hi p<55
2 Hp |.l=55
Hi pu>55
3 Ho p=55
Hi p=#55
Question 42

Peter finds that the workers in his company have a mean atttude score of 50, based on a sample of
n=40 What statistical test procedure 1s most appropnate to test the relevant hypothesis?

1 A t-test of a single sample mean

2 A z-test of a single sample mean

3 A t-test of two sample means

Question 43

Which one of the following atternative hypotheses requires a non-directional test of sgnificance?
1 The mean anxiety score for boys is greater than that of girls

2 The mean verbal ability score for boys Is lower than that of girls
3 The correlation between test marks and examination marks 15 not the same for boys and girls
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Question 44

A researcher wants to determine whether a significant relationship exists between measurements of mgh nsk
behawviour and general anxiety levels in a sample of 200 people who have been diagnosed as HIV positive.
She deces to use a very conservative level of significance of a= 0,001 She s probably doing this to avoid
committing a - - - -

1 type | error
2 type Il error
3 standard error

Base your answers to Questions 45 and 46 on the following scenano

A researcher hypothesizes that chess-playing students are better at non-verbal reasoning than students in
general. He draws a random sample of 25 students from the members of the chess clubs of South Afncan
universiies and measures their non-verbal reasoning ability by means of a test developed for this purpose

The scores of a large group of students on this test were found n earlier research to be distributed normally

with a mean of 20 Suppose the researcher finds that the mean score of his sample 1s 20, and the standard
devtation of the scores 8

Question 45

Which research design did the researcher use?

1 Single-sample groups design

2 Two-groups design

3 Two-groups design with a known population mean
Question 46

Which i1s the appropnate test statistic to calculate?

1 The z-statistic for the mean of a single sample

2 The t-statistic for the difference between the means of two independent samples
3 The t-statistic for the mean of a single sample
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Question 47
Consuder the following statistical hypothesis

Ho p=120
Hy p>120

If a sample of n=64 i1s drawn from the relevant population and it 1s found that x=124,2 and s = 25, what 1s
the value of the standard error (s; )?

1 25
2 25
V64
3 25
64
Question 48

Suppose you find that the vaiue of a t-test statistic calcuiated for your research results i1s 3,0 and the
appropnate p-value 0,02 Assume that the level of significance was set at 0,05 Which conclusion 1s
appropnate?

1 Reject the null hypothesis

2 Do not reject the null hypothesis

3 Reject the alternative hypothesis

Question 49

The null hypothesis should be rejected when the ----- s smaller than -----
1 the test statistic, the level of significance

2 the p-value, the level of significance
3 the level of significance, the p-value

Question 50

Suppose Hy p = 100 1s tested aganst H; i = 100 at the 0,05 level of significance If the t-statistic is
-3,20 and the one-talled p-value 1s 0,04, what decision regarding the statistical hypothesis can be taken?

1 Reject Hy and accept Hy

2 Reject H, and accept Hy
3 Do not reject Hp
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Base your answers to Questions 51 and 52 on the following scenano

A marriage counsellor expects that second marmages more often end in divorce than first marnages She
tests this hypothesis by following up 200 marnages that were all registered five years ago, 50 m which at least
one partner had been mamed before and 150 m which neither partner had been mamed before Of the 150
first mamnages 30 ended in divorce, of the 50 second marnages 10 ended in divorce

Question 51
Which constructs feature in the researcher's hypothesis?

1 Type of mamage (first/second), divorced (yes/no)
2 First marnage, second marnage, divorced (yes/no)
3 First marnage, second marnage, divorced, not divorced

Question 52
What type of statistical test 1s required?
1 A one-lailed statistical test

2 A two-tailed statistical test
3 No statistical test I1s necessary

Base your answers to Questions 53 and 54 on the following scenarno

To valdate a new depression scale a researcher applies it to 50 patients diagnosed with depression and 50
patients diagnosed with stress She predicts that the depression sample will score higher (more depression)
than the stress sample The mean scores of the two samples are found to be 30 (standard dewiation 10) and
25 (standard dewviation 10) respectively

Question 53

Which 1s an appropnate aiternative hypothesis for the analysis of the resuiis?

1 y>25
2 The population mean of the difference scores 1s larger than 25
3 W
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Question 54
What type of statistical test i1s required?
1 A one-talled test

2 A two-tailed test
3 A two-directional test

Question 55

Ateacher investigates the effect of extra classes on the performance of pupils in mathematics A group of 20
pupils receives the exira classes while a control group of 20 pupils receives singing lessons For each ofthe
40 pupils the teacher caiculates the increase or decrease in his or her mathematics performance from an
examination before the extra classes to an examination after the extra classes

Which research design 1s the teacher most likely to use?

1 A single-sample groups design

2 A two-sample groups design

3 A correlational design

Base your answers to Questions 58 and 57 on the following scenano

A politician asks his audience of 100 whether they will vote for hm Of the 60 men present 33 say yes, of
the 40 women present 18 say yes

Question 56

The null hypothesis 1s - - - - -

1 Pren = Pwonen = 0

2 Pmen = Pwomen

3 Pmen # Puwomen

Question 57

The observed sample statistic for the males 1s - - - - - whileiti1s----- for the fernales
1 0,60, 0.40

2 33, 18

3 0,55, 0,45
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Question 58

A researcher plans to use the t-test to compare two independent sampies of data of only 15 individuals
each What mimimum assumption needs to be met before she may proceed?

1 the sample standard deviations have to be equal
2 the data from both samples has to come from populations that are normaliy distnbuted
3 both of the above

Question 59

The difference score indicating differences between each parr of results in two sampies
(d = X2 - Xy) 15 used in the calculation of the test statistic n the case of - - - - -

1 the t-test for independent samples

2 the t-test for dependent samples

3 the Pearson correlation coefficient

Question 60

The z; statistic for companng proportions should be used - - - - -

1 for companng proportions in two samples from populations that are dependent

2 for companng proportions in two samples from populations that are independent
3 imespective of whether the data comes from dependent or independent populations

Question 61

Which of the following can take on a vaiue of -0,5?
1 a probability

2 a level of significance

3 a correlation coefficient

Question 62

A contingency table 1s used to summanze the relationship between two vanables measured on - - - - -
scale

1 a nominal

2 an ordinal
3 an interval or ratio
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Question 63

A negative correlation between vanables X and Y implies that persons scoring low on X will generally
score - --- - onyY

1 low

2 erther tow or high
3 high

Question 684

Which of the following 1s suitable for representing the ages versus the heights of a group of children?

1 A scatter plot
2 A contingency table
3 A histogram

Question 65

What 1s the correlation coefficient between the following values of X and Y?

X 0 0 0
Y -1 0 +1

Question 66
As the sample size (n) increases - - - - -
1 a smaller value of the Pearson’s correlation coefficient r will reach significance

2 & larger value of the Pearson’s comelation coefficient r1s required before the result will be significant
3 there are no implications for the sigmificance of the value of the Pearson’s correlation coefficient r
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Question 67

If there is no relationship at all between two vanables, what would be the most likely value of Pearson’s
correlation coefficient r, out of the following?

1 -1,0

2 0,5

3 0,0
Question 68

Which of the following does NOT represent a valid value for a Pearson's r?

1 0,00

2 -1,00

3 10,00
Question 69

Which of the following Chi-square values 1s more likely to be significant?

1 -20

2 +10

3 0
Question 70

Pearson’s r represents - - - - -
1 a companison between the observed frequencies and the expected frequencies for two categoncal
vanables

2 a measurement of the extent to which two vanables vary together
3 a measurement of the way in which two variables are distnbuted if the null hypothesis 1s true

END OF EXAM PAPER
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